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1.  Are we justified in saying that the logician is interested

only in those arguments whose premisses are true ?

Discuss,
P.T.O.
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Explain the notion of any one of the following : 4
(i} Logical Form; .
(i)  Existential Import of propositions.
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(@ ‘Reduce the following propositions to their

categorical form and give their obverses :

(i} All roses are not red.

() Only citizens are voters. 2+2
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What can be infe;-red about ‘the‘ truth/falsehood of

the following propositions if “All saints are happy

persons” is true :

1

(i) Some non-happy persons are non-saints;

(i) Some saints are non-happy persons.
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) Prove any one of the following :
L

() In a valid categorical syllogism both the

premisses cannot be particular.

{(ii} Major premiss must be universal in 1st figure

of 2 standard term categorical syllogism. 4
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Determine the validity/invalidity of the following

arguments by rules and fallacies of syllogism

All carpenters are people who see new patterns in

familiar things and all skillful craftpersons are people
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who see new pattern in famillar things, so all

carpenters are skillful craftpersons.‘ 3
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Some passionate individuals are not compromising
fellows; because all compromising fellows are people
with submissive personalities and no passionate

individuals are people with submissive personalities.

P.T.O
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Explain and illustrate stroke function.
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- If A and B are true, X and Y al;e false but the truth

values of P and Q are not known, determine. the truth/

falsity of the following :
@ [Po2AvX)]o{P>A >X

i@ ~@.X)o~({Pv~X) 242
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(i) [P:(Avk)]:[(P:A)DXI

(i) "= (P .X)o ~ (P v~ X)

Use truth table method to dei;ermine the validity/

invalidity of the following argument :

If Ram wins first prize, then Mohan wins second prize
or Sohan is disappointed. Mohan does not win the
second prize. Therefore, if Sohan is disa{ppointed, then

Ram does not win first prize (R, M, S). 6
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P.T.O.
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Test the validity/invalidity of the following arguments

form by using the reductio ad absurdum technique

(Shorter truth table method} (Do one) :
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- 8. Use the truth tree method to test the validity/invalidity
E of the following argument :
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P.T.0.
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Which of the following schemata are dual t'.o which ?
Justify :
p:>q', g op, ~(p>agq),
-~ (g = p)
Frefafen # 4 #Fa o e &0 ¥ 2 o
=it
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Reduce the following to its conjunctive Normal

Form :
lp 29 opl =p
frefefen #1 o7 Wi § aRer
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Reduce the fn}lowing to 'its Disjunctive Normal
Form ‘ o 6
(p>gl. @qoph olp . @) vi~p. ~ g
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Fifem . ' ‘

((PD.q).(QDp))D((p.q)v(~p.--q)).

P.T.O.
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Construct a formal proof of validity for the following

argument :
B v T~
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Translate any two of the following using
the notation of propositional funections and

guantifiers :

(&) All radioactive substances either have a
very short life or have medical value

(Rx, Sx, Mx).

(it} Horses and cows are mammals.

(Hx, Cx, Mx).

(i) No applicant will be hired who is untrained

or inexperienced. (Ax, Hx, Ux, Ix),

(ww) Domesticated animals are gentle and useful

(Dx, Ax, Gx, Ux). 4

P.T.O-
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I fafee® @ ¥ (Rx, Sx, Mx),
@ w2 R M wEud ¥ (Hx, Cx, Mx)
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aaferfes a1 s ¥ (Ax, Hx, Ux, Ix)

Gv) oe] wy farm ofk SwErh ¥

(Dx, Ax, Gx, Ux).

Construct a formal proof of validity for the

following érgument :
(x} (Fx o ~ Gx)

(3x) (Hx . Gx) /oo (3x) (Hx . ~ Fx). 6
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{x} (Dx o Ex)
(x)' (Fx > Gx)

(x) (Ex > Fx) /- (x) (Dx 5 Gx)

frfafen gfm % srwife vom &t e
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(0 (Fx > ~ Gx)
(3x) (Hx . Gx) fo. (3x} (Hx . ~ Fx).
AT
(x) (Dx o Ex) -
(x) (Fx > Gx)
(x) (Ex o Fx) /o x) (Dx > Gx)
(¢) Prove the invalidity of the following :
(x) (Ex o Fx)

(x) (Gx > Fx)
= (@) (Ex o Gx). ) 5

P.T.O.
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(x) (Hx » ~ Ix)
(3x) (Jx . - Ix) |
S AR) (Hx o Jx)
i % s fig W
x) (Ex o Fx)

(x) (Gx = Fx)

S (x) (Bx = Gx).
sverar
(x) (Hx o ~ I:.{)

'(Hx) (Jx . ~ Ix)
oo (x) (Hx o Jx)‘ —
Section D
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10. Discuss the fallacy of Equivocation and Accent.
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(1)
What do you understand by a fallacy ? Highlight

difference between formal and informal fallacy. Discuss

any one fallacy of relevance. 8
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Identify and explain the fallacies committed in any fwo

of the following passages :

(i)  There is no point in having a skilled worker to
do the job because many who are regarded as
skilled workers are no more skilled than anybody

else.

P.T.0.
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All phenomena in the universe are saturated with
moral -values. And, therefore, we can come to
assert that the universe for Indians is a moral

universe. i

But can you doubt that air has weight when you

have the clear testimony of Aristotle affirming

that all the elements have weight including air,

and excepting only fire ?

A good physician cures most of his patients
because he has h‘ad a sound medical
education for a man with a sound medical
education is a .good physician who cures most

of his patients.

-
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P.T.0.
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